



Republic of the Philippines PROVINCE OF PAMPANGA

OFFICE OF THE GOVERNOR

Provincial Capitol, City of San Fernando, Pampanga Tel. No. (045) 435-2577

NOTICE OF AWARD

March 03, 2023

My Lime & Nasi Capitol Blvd., Sto. Niño, CSFP

SIR/MADAME:

Thank you.

We are pleased to inform you that the contract for Purchase Request No. 23-0710 for 30 pax meals Lechon Kawali, Chopsuey, etc. – Meals & Snacks Re: BAC Meetings (Pre-Proc, Pre-Bid etc.) at 10:00AM for the month of March - May 2023 (GO/BAC) is hereby awarded to you in the amount of Php718,440.00.

ATTY. CHARLIE G. CHUA
Provincial Administrator
Designated HOPE
(per Exec. Order 20-2022)

PROOF OF PECETOT

TROOF OF RECEIPT.	
Signature over printed name: _ Designation:	
Date:	

n. . . .

PROVINCE OF PAMPANGA

City of San Fernando

Funding Source: General Fund

OBR NO: 101-23-02-867 OBR DATE: 2/16/2023

Supplier: My Lime & Nasi Cuisine

Capitol Blvd., Sto. Niño, CSFP

0905-4792627

P.O. N.o.

Date:

Mode of Procurement

123-0434

23-0710 dated 2/16/2023

Gentlemen:

Address:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: Onsite Delivery

Delivery Term:

See Terms of Reference

Date of Delivery:

Payment Term:

No. Quantity		Unit		TOMI.	
			Description	Unit Cost	Amount
	Meals	& Snack	s RE: BAC Meetings (Pre-Proc, Pre-Bid etc.) 10AM for the		
1	30		March 6, 2023	month of March-Mar	v 2023
	30	pax	Lechon Kawali, Chopsuey, Rice, Banana, Asstd. Soda in		7 2023
			March 8, 2022	Php 369.00	Dhn 11 070 05

1			March 6, 2023	onth of March March	200
•	30	pa	The state of the s	or March-Way 2	2023
			Can 320ml. March 8, 2023	Php 369.00	Dhn 44 070
2	50	pax	Bacon & Egg Condition		Php 11,070
3	50	pax	I w Lyy Sandwich Code:		
			Chicken Curry, Chopsuey, Rice, Buko Pandan, Buko Juice March 10, 2023	119.00	5,950
	50	pax	Ham & Cheese Sand 11	369.00	18,450
	50	pax	Ham & Cheese Sandwich, Bottled Water 320ml.	119.00	
			Fried Chicken, Asado Atay Balunbalunan, Rice, Bagkat March 13, 2023	369.00	5,950.
	30	DOV	March 13, 2023	309,00	18,450.
		pax	Pork Sisig, Shrimp Tempura, Buko Pandan, Rice, Asstd.		
_			Soda in Can 320ml. March 15, 2023	369.00	11,070.0
1	50	pax	Burger Sandwich, Soda in Can 320ml.		
	50	pax	Chicken Fillet Reef Coldand	119.00	
1			Pineapple Juice 320ml.	369.00	5,950.0
	50	pax	March 17, 2023		18,450.0
	50	pax	Hotdog Sandwich, Soda in Can 320ml.		
+		Pax	Chopsuey, Chicken Adobo, Rice, Buko Pandan, Buko	119.00	5,950.00
+	00		March 20, 2023	369.00	18,450.00
1	30	pax	Pork Hamunado, Fried Tilapya, Rice, Banana, Pineapple		
			March 22, 2023	369.00	11,070.00
	50	pax	Tima Sandwish D. W.		11,070.00
	50	pax	Tuna Sandwich, Bottled Water 320ml.	110.00	
-			Pork Sisig, Chicken Fillet, Rice, Banana, Asstd. Soda in Can 320ml.	119.00 369.00	5,950.00
-	50		March 24, 2023	309.00	18,450.00
	30	pax	Clubhouse Sandwich, Bottled Water 320ml.		
			The state of the s	119.00	5,950.00

In case of failure to make full delivery within the time specified above, a penalty of one-tenth 10) of one percent of every day of delay shall be imposed.

Conforme:

My Lime & Nasi Cuisine

Furricized Official

PROVINCE OF PAMPANGA

City of San Fernando

Funding Source: General Fund

OBR NO: 101-23-02-867 OBR DATE: 2/16/2023

upplier:

My Lime & Nasi Cuisine

P.O. N.o.

123-0434

dress:

Capitol Blvd., Sto. Niño, CSFP

Date:

0905-4792627

Mode of Procurement PR No.

23-0710 dated 2/16/2023

entlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: Onsite Delivery

Delivery Term:

See Terms of Reference

Date of Delivery:

Payment Term:

Quantity	Unit	Description	Unit Cost	Amount
50	pax	Chicken Curry, Lechon Kawali, Rice, Asstd. Fruits, Asstd.		
		Soda in Can 320ml. March 27, 2023	369.00	18,450.0
30	pax	Menudo, Kalderetang Manok, Rice, Leche Flan, Asstd.	369.00	
50		March 29, 2023	000.00	11,070.0
50	pax	Bacon & Egg Sandwich, Soda in Can 320ml.		
50	pax	Fried Chicken, Lengua Rice Papana A-11	119.00	5,950.0
		320ml. March 31, 2023	369.00	18,450.00
50	pax	Ham & Cheese Sandwich, Bottled Water 320ml.		
50	pax	Pork Sisig, Fried Tilapya, Rice, Buko Pandan, Buko Juice	119.00	5,950.00
		7 pm 3, 2023	369.00	18,450.00
30	pax	Lengua, Chicken Curry, Rice, Brownies, Soda in Can 320ml.	369.00	
		April 5, 2023	369.00	11,070.00
50	pax	Cheese Empanada, Soda in Can 320ml.		
50	pax	Crispy Kare-Kare Chicken Fillet w/ Sauce Di	119.00	5,950.00
		Asstd. Soda in Can 320ml. April 10, 2023	369.00	18,450.00
30	pax		THE PERSON NAMED IN	
		Porkchop, Pinakbet, Rice, Banana, Asstd. Soda in Can 320ml.	369.00	11,070.00
50	DO.	April 12, 2023		
50	pax	Clubhouse Sandwich, Bottled Water 320ml.	119.00	5.050.00
00	pax	Pork Nilaga, Boneless Bangus, Rice, Asstd. Fruits, Asstd. Soda in Can 320ml.	369.00	5,950.00
		April 14, 2023		18,450.00
50		Ham & Cheese Sandwich, Soda in Can 320ml.		100000000000000000000000000000000000000
50	pax	Chicken Barbeque Chonsuev Backet Cosing A	119.00	5,950.00
		Soda in Can 320ml. April 17, 2023	369.00	18,450.00
30	pax	Pork Humba, Buttered Vegetables, Rica harras A. J.		
	- 18	Soda in Can 320ml.	369.00	11,070.00

In case of failure to make full delivery within the time specified above, a penalty of one-tenth) of one percent of every day of delay shall be imposed.

Conforme:

My Lime & Nasi Cuisine

Very truly yours,

Designated HOPE

(Authorized Official)

City of San Fernando

Funding Source: General Fund

OBR NO: 101-23-02-867 OBR DATE: 2/16/2023

Supplier:

My Lime & Nasi Cuisine

P.O. N.o. Date:

123-0434

\ddress:

Capitol Blvd., Sto. Niño, CSFP

0905-4792627

Mode of Procurement PR No.

dated 2/16/2023

Bentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery:

Onsite Delivery

Delivery Term:

See Terms of Reference

Date of Delivery:

Payment Term:

Item No.	Quantity	Unit	Description	Unit Cost	Amount
			April 19, 2023		
30	50	pax	Bacon & Egg Sandwich, Bottled water 320ml.	119.00	5,950.00
31	50	pax	Beef Caldereta, Pinakbet, Rice, Buko Pandan, Pineapple Juice 320ml.	369.00	18,450.00
32	50		April 21, 2023		
	50	pax	Hotdog Sandwich, Soda in Can 320ml.	119.00	5,950.00
33	50	pax	Menudo, Fried Chicken, Rice, Buko Pandan, Buko Juice	369.00	18,450.00
			April 24, 2023		
34	30	pax	Begukan, Chicken Curry, Rice, Leche Flan, Asstd. Soda in Can 320ml.	369.00	11,070.00
1	- 50		April 26, 2023 ·		
35	50	pax	Clubhouse Sandwich, Bottled Water 320ml.	119.00	5,950.00
36	50	pax	Pork Bistig, Tempura, Rice, Banana, Asstd. Soda in Can 320ml.	369.00	18,450.00
			April 28, 2023		
37	50	pax	Ham & Cheese Sandwich, Soda in Can 320ml.	119.00	5,950.00
38	50	pax	Pork Chop, Chopsuey, Rice, Asstd. Fruits, Asstd. Soda in Can 320ml.	369.00	18,450.00
			May 3, 2023		
39	50	pax	Clubhouse Sandwich, Soda in can 320ml.	119.00	5,950.00
40	50	pax	Relyenong Bangus, Lechon Kawali, Rice, Banana, Asstd. Soda in Can 320ml.	369.00	18,450.00
			May 5, 2023		
41	50	pax	Hotdog Sandwich, Bottled Water 320ml.	119.00	5,950.00
42	50	pax	Pork Nilaga, Tempura, Bagkat Saging, Asstd. Soda in Can 320ml.	369.00	18,450.00
			May 8, 2023		
43	30	pax	Chicken Adobo, Chopsuey, Rice, Banana, Buko Juice	369.00	11,070.00
			May 10, 2023		
44	50	pax	Ham & Cheese Sandwich, Soda in Can 320ml.	119.00	5,950.00
45	50	pax	Pork Sisig, Pinakbet, Buko Pandan, Rice, Pineapple Juice 320ml.	369.00	18,450.00

In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent of every day of delay shall be imposed.

Conforme:

My Lime & Nasi Cuisine .

Authorized Official

City of San Fernando

Funding Source: General Fund

OBR NO: 101-23-02-867 OBR DATE: 2/16/2023

pplier:

My Lime & Nasi Cuisine

P.O. N.o.

2 3 - 0 4 3 4 MAR 0 3 2023

Idress:

Date:

Capitol Blvd., Sto. Niño, CSFP 0905-4792627

Mode of Procurement

Small Value Procurement 23-0710 dated 2/16/2023

entlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: Onsite Delivery

Delivery Term:

See Terms of Reference

Date of Delivery:

Payment Term:

tem No.	Quantity	Unit	Description	Unit Cost	Amount
			May 12, 2023		
46	50	pax	Cheese Empanada, Bottled Water 320ml.	119.00	5,950.00
47	50	pax	Fried Chicken, Chopsuey, Rice, Buko Pandan, Buko Juice	369.00	18,450.00
			May 15, 2023		
48	30	pax	Pork Barbeque, Pinakbet, Rice, Banana, Asstd. Soda in can 320ml.	369.00	11,070.00
			May 17, 2023		
49	50	pax	Chicken Sandwich, Soda in Can 320ml.	119.00	5,950.00
50	50	pax	Chicken Asado, Pinakbet, Rice, Banana, Pineapple Juice 320ml.	369.00	18,450.00
			May 19, 2023		7.050.00
51	50	pax	Clubhouse Sandwich, Soda in Can 320ml.	119.00	5,950.00
52	50	pax	Fried Tilapya, Beef Nilaga, Rice, Asstd. Fruits, Asstd. Soda in Can 320ml.	369.00	18,450.00
		B. B. Tar Bay	May 22, 2023		
53	30	pax	Menudo, Chicken Fillet, Rice, Banana, Asstd. Soda in Can 320ml.	369.00	11,070.00
			May 24, 2023		
54	50	pax	Ham & Cheese Sandwich, Soda in Can 320ml.	119.00	5,950.00
55	50	pax	Roasted Beef, Boneless Daing Bangus, Buko Pandan, Rice, Asstd. Soda in Can 320ml.	369.00	18,450.00
			May 26, 2023		5.050.00
56	50	pax	Bacon & Egg Sandwich, Bottled Water 320ml.	119.00	5,950.00
57	50	pax	Pork Barbeque, Chopsuey, Banana, Rice, Asstd. Soda in can 320ml.	369.00	18,450.00
			May 29, 2023		
58	30	pax	Pork Steak, Chicken Teriyaki, Rice, Banana, Buko Juice	369.00	11,070.00
			May 31, 2023		
57	50	pax	Clubhouse Sandwich, Soda in Can 320ml.	119.00	5,950.00
58	50	pax	Pork Chop, Buttered Vegetables, Rice, Asstd. Fruits, Asstd. Soda in Can 320ml.	369.00	18,450.00
		1951313	Terms of Reference:		

In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent of every day of delay shall be imposed.

Conforme:

My Lime & Nasi Cuisine

incial Administrator Designated HOPE

(Authorized Official)

City of San Fernando

Funding Source: General Fund

OBR NO: 101-23-02-867 OBR DATE: 2/16/2023

lier: My Lime & Nasi Cuisine P.O. N.o. Date:

ess:

Capitol Blvd., Sto. Niño, CSFP

Mode of Procurement PR No.

dated 2/16/2023

0905-4792627

lemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

ace of Delivery: Onsite Delivery

Delivery Term:

See Terms of Reference

ate of Delivery:

Payment Term:

n	Quantity	Unit	Description	Unit Cost		Amount
			*Changes in date, time, quantity & venue subject to at least 48 hours notification by the end-user.			
				Total	Php	718,440.0

otal amount in words)

Seven Hundred Eighteen Thousand Four Hundred Forty Pesos Only

In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent of every day of delay shall be imposed.

Conforme:

My Lime & Nasi Cuisine

Provincial Administrator Designated HOPE

(Authorized Official)

BIDS AND AWARDS COMMITTEE

Excerpts from the regular session of the IG - BAC of the Provincial Government of Pampanga held on March 03, 2023 at the Old S.P. Session Hall, Provincial Capitol, City of San Fernando, Pampanga.

> Present:

Atty. Gerome N. Tubig

Chairman

Mr. Francis V. Maslog

Vice-Chairman

Engr. Olimpio M. Pangan Dr. Augusto S. Baluyut, Jr. Member

Member

Ms. Rima K. Bondoc

Member

Absent:

None

RESOLUTION NO. 2023- 041-A -A-DGP

"A RESOLUTION AWARDING PURCHASE REQUEST NO. 23-0710 TO MY LIME & **NASI CUISINE**"

WHEREAS, the Bids and Awards Committee - Procurement requested for the procurement of the following items, to wit:

QTY	UNIT	DESCRIPTION	ABC
QTT		Meals and Snacks, Re: BAC Meetings (Pre-Proc, Pre-Bid, etc.) for the month of March-May 2023:	PhP 721,200.00
30	Pax	For March 06, 2023: Lechon Kawali, Chopsuey, Rice, Banana, Asstd. Soda in Can 320ml. and others.	1

WHEREAS, pursuant to BAC Resolution No. 2023 - 057 -NP-DGP issued on February 17, 2023, the foregoing items were resolved to be procured through negotiated procurement, and three (3) suppliers were invited to submit their quotations, to wit:

QTY	UNIT	DESCRIPTION	LORNZ FOOD SERVICES	AQUEE CATERING SERVICES & GEN. MDSE.	MY LIME & NASI CUISINE.
30	Pax	Meals and Snacks, Re: BAC Meetings (Pre- Proc, Pre-Bid, etc.) for the month of March- May 2023: For March 06, 2023: Lechon Kawali, Chopsuey, Rice, Banana, Asstd. Soda in Can 320ml. and others.	719,820.00	721,200.00	718,440.00
		TOTAL:	719,820.00	721,200.00	718,440.00



the lowest quoted price; My Lime & Nasi Cuisine was

WHEREAS, after careful examination, validation and verification of the submitted documents of My Lime & Nasi Cuisine, its offer was declared as the lowest calculated and responsive quotation;

NOW THEREFORE, the Members of the Bids and Awards Committee, in regular session assembled:

RESOLVED, as it is hereby resolved, to recommend the award of the foregoing item to **My Lime & Nasi Cuisine**, in the amount of **PhP 718,440.00**, pursuant to RA 9184 and its Revised IRR;

RESOLVED FINALLY, to submit the foregoing recommendations to the Head of the Procuring Entity (HOPE) for approval.

APPROVED.

I HEREBY CERTIFY TO THE CORRECTNESS OF THE ABOVE QUOTED RESOLUTION:

Chairman, Bids and Awards Committee

8eccetariat

ATTESTED:

Chairman, Bids and Awards Committee

APPROVED / DISAPPROVED:

ATTY. CHARVIE G. CHUA

Provincial Administrator Designated HOPE

(Per Executive Order No.20 -2022)